4
FIRES

The Experts On Fire Safety

TEST REPORT EIRES-FR-ZSB-OB-AUNE
Cable bearing system BAKS with cables

www.fires.sk




FIRES, s.r.o.

Mol fikovani osibi ¢ Notified Body N 1396
Autorizovani vsoba rea. & Approved Body Naiz Sk
Ostoboditelay 282, 059 35 Batizovee. Stovakia

/-\\\
FIRES

Fel 2] 52 775 2208, Fax+421 52788412, www.fires.sk he Experrsom Fag Snfety
% '|1l||::‘l_:‘ll‘l-l‘ i et
j:iﬁ—;ﬁf’f © SNAS |
= ,-r"'"—__""“'-._;: _A4E
AT N Reg. No. 041/5-159 ‘

o
r”:"lrl il |I'|"':\“;';‘\I

l'ésting lahgratory N, 04175-15% peeredited by
Siovak national accreditation service

TEST REPORT

FIRES-FR-250-08-AUNE
Functicon in fire
CHN 4102 — E2:1998-11

Fest report number:
T'ested property:
Test method:

Date of issue: 19, 12, 2008

Name of the product:

Manufacturer:

Spunsor

— m— o —— mm— e o i

Cable bearing system BAKS with cables

BAKS Kazimierz Sielski, ul. Jagodne 5,
05-480 Karczew, Poland - producer of construction

Zaklady Kablowe Bitner Celina Bitner, Friedleina - f
30-009 Krakow, Poland - producer ol cables
BAKS Kazimierz Sielski, ul. Jazodne 5. 05-480 Karceew. Paaland

Task No.:
Specimen received:
ate of the fire test:

- - .- am

PR-O8-0476
14, 11, 2008
20, 11,2008

[echnician responsible for the technical side of this report: Miroslay Hudiik

Number of appendicces: 50
Copy Nou: g

Number of pages:
Test reports:

Loy )

[hstribution list:
Copy Na.l: FIRES, 8.r.0., Osloboditeliov 282, SK-039 35 Batizovee, Slovakia

(electronie version)

BAKS Kazimierz Sielski, ul. Jagodne 3. 03-480 Karezew. Poland

(electronic version)

Zaklady Kablowe Bitner Celina Bitner, Friedleina 3/3. 30-009 Krakdw, Poland
{clectronie version)

BAKS Kazimierz Sielski, ul. Jagodne 3. 05-480 Karczew. Poland

Zaklady Kablowe Bitner Celina Bitner, I'riedleina 343, 30-009 Krakow. Poland B

Copy No.2:

Copy Na3:

Copy WNod:
Copy Mo .2:

R —



FIRES-FR-256-08-AUNLE [Pape: 2
L. INTRODUCTION

This test report contains the results ol the test carried out at the testing laboratory of FIRES s.ro. in
Batizovee. The purpose ol the test was product classification. The test specimen was cable bearing
system BAKS wilh power and communication non-halogen cables with elreuit integrity maintenance.
Persons witnessing the fest:

Representatives of the sponsor: Mr. Kliczek (BAKS)
Mr. Lewandowski (BAKS)
Mr. Krajewski (Zaklady Kablowe Bitner)
Mr. Tokaj (Zaklady Kablowe Bitner)
Mr. Latacz (Zaklady Kablowe Biter)

Mr. Marek Gorlicky
Mr. Miroslav Huddk
Mr. Jidn Huragt

Test directed by:
Test carried out by:
Ciperator:

This report inchudes accreditation mark SNAS with additional mark 1LAC-MBA, These marks confirm that all activities
curried pul by FIRES sr.0. Batizoves, recorded in this report. are in according accreditation rules and under supervision
of SNAS, SNAS is signatory of [LAC-MRA, Mutual recognition agreement {of acereditation), which is focused on
promoting ef iniernational aeeeptunce of sceredited laboratory data and reducing technieal hurriers to frade. sueh as the
retesting of products on markets of signatories. More information about ILAC-MRA is on www ilag,ors, Signatorics of
ILAC-MEA are ez SNAS (Slovakia), TAL (Czech Republic), POCA (Poland), DAP (Germany) or BMWA (Austria). Up
to date list of ILAC-MRA signatories is on www.ilac.org/documents mra_signutorics-pdb

Fires s.r.o. Batizovee is full member of EGOLF also, more information www.egolforg uk

2. MEASURING EQUIPMENT

ldentification number Measuring equipment Note

I 90 002 Harizontal test furnace for fre testing -

[ 6% 005 PLL system for data acquisition and control -
TECOMAT Ns @30

[0 D0k Soltware Comrol Web 2000

Control and communication softwire 1o PLC
TECOMAT NS 930

Visunl and enleulating soltware to PLC -
TECOMAT NS 950
Diriver Tecomat — O%W 2000 (soffware) .
]JI'E&S[[I‘EH-II‘ISME the test
flrnace

temperature inside the 1est

[ a0 00

F i

Fdnall

Transducer of differentiul pressure (From =50 w

' Q
F71 008, F 7100 by

F (8521, F 08.522, F 08 523, F 08 524
F OB A25, FOR326, FO8 527, F 08 528

Plate thermomerers

furnace. aceording to
EN |363-] a 2N 4102-2

I (8 701 Sheathed thermeocouple type K & 3 mm armbient wmperature
. PLC system for data acquisition amd elimate climatic conditions
P800 control TECOMAT TC 604

Faonnt - F ol nos Temperature and relative gir humidity sensals climatic conditions
[ad a7 Racking meter -
F a7 007 Digital stop-watch -
Fa5018 Test signal panel -

FIRES 064/5-16/06/2008-1




FIRES-FR-256-08-ATNE Page: 3
3. PREPARATION OF THE SPECIMEN

Testing laboratory didn’t take off individual components of the specimen. Components take-off and
its delivering to the testing laboratory were carried out by the test sponsor. Assembling of the
supporting system into the test furnace was carried out by workers of the test sponsor. Mounting of
¢ables and weights into the supporting system was carried out by workers businesses BAKS and
Zaklady Kablowe Bitmer.

4. PREPARATION OF THE TEST
4.1 DESCRIPTION OF THE SPECIMEN STRUCTURLE

Test specimen comprised from cable bearing systems BAKS with accessorics — trays. ladders. clips
UDF. UEF. UKO and sleeves — OZ0 and power and communication non-halogen cables husiness
Zaklady Kablowe Bitner.

Cables:  NHXH 4x1.5 RE FE180 E90 MICA
NHXH 4x1.5 RE FEI80 MICA 01
NHXII 4%1.5 RE FE180 MICA 02
NHXH 4x1.5 RE FE180 MICA 03
NHXH 4x10 RETE1SO E9O MICA
NHXH 4x50 RM FE180 E90 MICA
(NIHXH 4x1.5 RE FE180 CERAMIC 0508
(NJHXH 4x1.5 RE FEI80 CERAMIC 0957
(NJHXIT 4x1.5 RE FE180 CERAMIC 1384
(MNOIEXH 4x10 RE FE180 90 CERAMIC
NHXCH 4x1.5/1.5 RE FE180 FO0 MICA
NHXCH 4%1:5/1.5 RE FE180 MICA 01
NHXCH 4x1.5/1.5 RE FE180 MICA 02
NHXCIH 4x1.5/1.5 RE FE180 MICA 03
NHXCH 4x10/10 RE FE180 E90 MICA
NIIXCH 4x30/25 RM FE180 E90 MICA
(NJHXCH 4x1.5/1.5 RE FE180 CERAMIC 0508
(NJHXCH 4x1.5/1.5 RE FE180 CERAMIC 0957
(NJHXCH 4x1.5/1.5 RE FEIR0 CERAMIC 1384

o ]
-~

R e

L
FERRST T T Q0 % QI e e e e X4\
O e e G o The o oW A
Mo e

i e L SRRLAY SROGE B S Eoao el
B s e om o
e S
B

fea 153 b
A

Supporting svstem BAKS: ceiling installation and three suspension tracks was used for specimen
test,

Ceiling installation: was made by cable clips (type I'DFE rustless). sleeves (type OZ0L rustless) and
ceiling ledges (type SDOC 400F rustless) which were fixed to ceiling by dowels (type SRO Méx30L)
in spacing of 600 mm. Cables were fixed ta ledges by ¢lips (type UKOIL rustless) inspacing of 600
mm. Cable ¢lips (tvpe UDT and UEF) were fixed to ceiling by dowels (type SRO M6x30) in spacing
of 300 mm. Cable clips were depending on the diameter of cables.

Suspension track No. 1: was made by three hangers (type WPCO 900) which were fixed to ceiling by
two dowels (type PSRO M10x80) in spacing of 1500 mm. Three booms (type WWSO 4007 were
fixed by serews (type SM M10x20) at each hanger. Holders (type UPWO) were [ixed at the end of
booms. Booms were fixed through these holders by threaded bar (type PGMI0/1x600) with washers
and nuts M10 to ceiling holder (type USOV) which was fixed to ceiling by dowel (lype PSRO
M10x80).

Travs (type KCOD 4000160/3N, steel sheet thickness 1.2 mm) were fixed at upper booms and
jointed together by two junctions (type LPOPHGEON] and by sheet (type BLO40ON) with serews Mo
(type SGN M6x12). Trays were fixed to booms by serews M6 (type SGN M6x12),

FIRES 064/S- 1 6/16:2008-E




FIRES-IR-236-08-AUNE Page: 4

Ladders {type DGOD 400H60/3N, steel sheet thickness 1.2 mm) were fixed at central booms and
jointed together by junction (type [ DOCHG0NY with serews M8 (type SGN M8x14). Ladders were
fixed to booms by clips (type ZMO) with screws MBS (type SON MEx14).

Travs (type KCOD 400H60/3N. steel sheet thickness 1.2 mm) were fixed at under booms and
jointed together by two junctions (ype LPOPHG0N) and by sheet (type BLO4DON) with serews M6
(type SGN Mox12). Trays were fixed to booms by screws MG (tvpe SGN M6x12).

Trays were loaded with 10 kg/m and ladders were loaded with 20 kg/m,

Suspension track No. 2: was made of three consoles combined ol three horizontal supports (Lype
CWOP40HA0/05E rustless) and two threaded bar (type PGMI10/1x600F rustless) with washers and
auts M10 and two hangers (type WPPOVE rustless) which were fixed o ceiling by dowels (type
PSRO M10x&0F rustless) in spacing of 1500 mm.

Trays (type KCOJ 400H60/5E rustless. steel sheet thickness 1.0 mm) were fixed at upper horizonta!
supports and jointed together by two junctions (type LPOPHG0E) and by sheet (type BLO 40015) with
serews M6 (type SGN Mo6x12/F). Trays were lixed Lo supporls by serews M6 (Lype SGN MoOx12/E).

Ladders (type DGOD 400H60/3E rustless, steel sheet thickness 1.2 mim, spacing ol transoms 130
mm) were fixed at central horizontal supports and joinied together by junction (type LDOCHGOE)
with screws M8 (tvpe SGN M8x14/E). Ladders were fixed 1o supports by clips (type ZMOE) with
screws M8 (type SGN MEx14/E).

Trays (tvpe KCOJ 4001160/3k rustless, steel sheet thickness 1,0 mm) were fixed at under horizontal
supports and jointed together by two junctions (type LPOPTGOL) and by sheet (type BLO 400F) with
serews M6 (tvpe SGN Méx12/E). Trays were fixed to supports by screws Mo (type SGN Méx12/E),

Trays were loaded with 10 kg/m and ladders were loaded with 20 kg/m.

Suspension track No. 3: was made by three hangers (Lype WPCO 900F rustless) which were fixed to
ceiling by two dowels (type PSRO MIOx80L rustless) in spacing of 1300 mm. Three booms (lype
WMCO 400E rustless) were Tixed by serews (type SM M10x20/E) at each hanger. Holders (type
UPWOT) were fixed at the end of booms. Booms were fixed through these holders by threaded bar
(type PGMI0/IX600E rustless) with washers and nuts M10 1o ceiling holder (type USOVE) which
was fixed to ceiling by dowel (type PSRO MI10Ox8ULE),

Iravs (type KCOJ 400HG05E rustless, steel sheet thickness 1.0 mm) were fixed at upper booms
and jointed together by two Junctions (type LPOPHGO0E) and by sheet (type BLO 400E) with screws
M6 (type SGN Mox12/E). Trays were fixed to supports by serews M6 (type SGN Mox1 2'E).

Ladders (type DGOD 400H60/E rustless, stecel sheet thickness 1.2 mm, spacing of transoms 130
mm) were fixed at central booms and | ginted together by junction {type LDOCHG0) with serews M8
(type SGN M8x14/E). Ladders were lixed 10 supports by ¢lips (type ZMOE) with serews M3 (1ype
SGN MEx 14/E),

Trays (type KCOJ 400H60/3E rustless, steel sheet thickness 1.0 mm) were fixed at under booms
and jointed together by two junctions (type LPOPH6UE ) and by sheet (type BLO 400E) with screws
M6 (type SGN M6x12/E). Trays were fixed L0 SUpparts by serews M6 (type SGN Mox12/E).

Types of individual components are from catalogue BAKS.

Cable penetration through the wall of test furnace was sealed by mineral wool Rockwool,
Loading with steel chain were used as the equi valent load.

Mare detailed information about specimen construetion is shown in the drawings which form the
appendix of this test report. Drawings were delivered by the sponsor of the test.

All the information about technical specifications ol used marerials and semi-products, mformation
about their type sign and their producers were delivered by sponsor. This information was not subject
of the specimen inspection. Parameters which were checked are quoted in paragraph 4.3 SPECTMEN
INSPECTION.

FIRES D6/ ts-1 G 62008-F




FIRES-FR-256-08-41INE Page: 5
4.2 DESCRIPTION OF THE SPECIMEN FIXATION

['he test specimen was fixed on the ceiling of the test furnace which was created from conerete panels
made of common shocked conerete of ¢lass B 200 150 mm thick.

Fhe type of specimen fixation into the test furnace is visible in drawing documentation and it was
selected by the sponsor,

4.3 SPECIMEN INSPLCTION

Before and after the fire testing, conformity of the test specimen with drawing was checked. The
specimen correspanded to the drawing which create appendix of this report.

Specimen inspection consisted of visual review of the test specimen as well as size verificalion
(number and eross sections of conductors. thickness, measurements of cables and trays).

4.4 CLIMATIC CONDITIONING

Test specimens were stored in the climatic hall and conditioned according 1o EN 1363-1 under the
[ollowing climatic conditions:

Relative air humidity |[%| Ambient air temperature |°C]|
méan standard deviation mearn standard deviation
496 4.9 23.0 0.5

The equilibrium state of test specimen humidity was not determined. The test specimen did not
comprise hygroscopic material.

5. CARRYING OUT THE TEST

5.1 TEST CONDITIONS

Conditions in the test [urnace (lemperature, pressure, content (s content) as well as conditions in the
testing room (ambient temperature) corresponded to BN 1363-1 and DIN 4102-2 during the whole
test, Detailed information is shown in appendices of this report or in quality records ol the testing

laboratory,

Values characterising environment in the testing room directly belore the test:

Date of fire test Relative air humidity || Ambient air temperature [°C]|
20. 11,2008 61,1 154

52 TEST RESULTS

The measured values are shown in tables that form an integral part of this test report.

FIRES O6is- 1 60n2008-E




FIRES-FR-

5.3 EVALIL

256-08-AUNE

TATION OF THE TEST

Page! 6

SPECIMENS

Time to first failurefinterruption
of conduetar

Specimen |;

cables NHXCH 4x50/25 RM FEISO EYO MICA

Specimen 2:
Specimen 2;

cibles (NIHXH 4x1.5 BE FE1S0D € FR:"-.MI(_. 0308

90 minutes no failurefinterruption
T minutes

L;thn:?x (RIHXCH 4%1,5/0.5 RE FE180 CERAMIC 0508

Specimen 3

) L:l]‘.lll:.\ NHXCH 4x] "hl,S Bl FE180 E90 MICA

T tIJIIIIItE“i

9 mmutu 1o I'aniure.-'mtt-rruptmn

"'l]':-LLI-IIU..,JI a4

n...;;L'liu: NHKF._H -h""\[l"“' Il’\ﬂ E LlSﬂ ES ['-.-![f_ﬁ

90 minutes no failure/interruption

"'.[m;imcn f]

90 minutes no filnre/interruption

Cﬂhh.h HHXLIE ahll 5SRETF FI-‘:}U F"a"l.] MICA

90 minutes no failurefinterruption

Specimen r

cubles NEHXT 4xl,: HL J Li80E ";'[J MICA

Specimen § 8-

‘?l'll minutes no Milurediniecruption

cables NHXH 4x50 RM 3 Llﬁi} r*;[} MILLEA

) mlnules no failure/inter ruption |

Specimen 9:

LahELH{N‘JHM Ho4x1.5/1.5 RE I_FEHH (_LH."-.M[L' [ 354

Specimen 10,

cables (NJHXH 4x1.5 RE FEI80 CERAMIC 384

90 minutes no failurednterrnption |
o0 minutes no failure/interruption

Specimen e

L.ihll.,RNHXII 4x1.5 RE FE180 90 MICA

Specimen |2:

cables NHIXIL 4510 RE FEI80 lﬂﬂ MICA

90 minutes no failure/interruption
9 minutes no failure/interruption |

"'rELL]-ITIEf'I |3
“,*:-.,-._lnlul IEH

“cables (N)HXH 4x10 RE FE180 E90 CERAMIC

90 minutes no Milure/interruption

cables NHXCH Jr.,;q{] 25 RM FE180 B9 MICA

00 minutes no filurefinterruption

| Specimen 15

calles (MIHXCH axl. 5/1.3 RE FE IBﬂ CERAMIC D937

36 minufes

Epcu[mcu [ER

cables (NJHXH 4x1.5 RF FE18Y CERAMIC 0957

3B minutes

5 peuimrcn |7

eables NHXCH axl, :J-*l 5 RE FEITS0 E90 MICA

9t minutes no failure/interruption

_-.E'T;Eu_-.;ilnun |.&:

cables NHXCH 4x50/25 RM FE180 ES0 MICA

90 minutes no failure/interruption

Specimen |9:

cables NHXH 4x50 RM FEI80 90 MICA

90 minutes no failure/interruption

Specinmen 20

Lﬁhh.‘- NHXCH 4x1.5/1.5 RE FEIS0 ES0 MICA

) minutes no failure/interruption

Specimen 21

th'LH NHXH 4x1.53 RE FELS) ESO MICA

90 minutes no filure/interruption

Specimer "‘}.

gables NHXH dx5 RM FET80 I_.'-IH WL A

90 minutes no @ilurefinterruption

Specimen 23

cubles NHXCH -h.1 a5 Rk IFISHWIL.& 0

Specimen 24:

cables NHXIT 4x1.3 ' RE FLE180 |"v1|i. A2

Th minutes
RO minutes

Specimien 25!

cables NHXI 4x1, ‘7- RE P80 ESD MICA

90 minutes no failure/interruption

Speciinen 26,

cahles NHXH Ax10 RE FEI80 ES0 MICA

Th mm uies

Speeimen 27

cables (NJHXTI 4%10 RE FE180 F90 CERAMIC

l){l minutes no h|hlrefinmrru;_t|rm

Specimen 28;

CL1T?I||._H NHXCH 4x1,5/1.5 RE FEI80 E90 MICA

G0 minutes no faillure/interruption

Specimen 29

cables NHXH 4x1.5 REFE FROESD MICA

9 minutes no failore/interruption

Specimen

cables NHXCH 4\.‘?{]'""1 EM IF LI3IL! 90 MICA

specimen 31

90 minutes no failurefinterruption

cables NHXH 4x30 HM FEISD EDO I"-.-HL’_"

_SE'Jec_inh:n 33

cables NHXCH 4xl, 571 S REFLLISOE 90 MICA

A1 minutes

OO minutes no failure/interruption

.‘-ij}m:ip_!_:_:n i

cables NHXH 4x1.5 RE F[— La( E90 "-'1H. A

Specimun 34

cables NHXCH 4x30023 RM FEI80 E90 MICA

90 minutes no failure/interruption

9 minutes no failure/interruption

Specimen 35

cables NHXH 4530 RM FEIRD B9 NICA

41 minutes

Specimen 36

paliles NHXCH 4x10/10 RE FEIBO B0 MICA

o minutes no failure/interruption

Specimen 37

gables NHXH 4x10 RE FEIR0 ESO MICA

o0 minudes no failure/interruption

Specimen 3

cables NHXCH 4xS0:25 RM FETS(0 ESO MICA

Ol minutes no failure/imterruption

sSpecimen 39:

cables NHXCT 4x1.5/1.5 RE FELSD MICA O3

00 minutes no Milurefinterruption

Specimen 1)

cables NHXH 4x1.5 RE FE180 MICA (3

i minutes no failure/interruption

Specimen 41

cables WHXCH 4x1,5/1,5 RE FEISD E90 MICA

Ui minutes no failure/interruption

Specimen 42;

cables NHXCH 4x30/23 RM FEIBO 90 MICA

Specimen 43

cahles NHXH 4x50 RM FEIS0 E90 MICA

90 minutes no failure/interruption
O minutes no BEilure/interraption

Speciimien 44

cables NHXCH 4x1,5/1.5 RE FE180 E90 MICA

i minutes no filure/interruplion

Bpeciinen 45

cables NTHXH 4x 1.5 RE FEIS0 E20 MICA

A8 minutes

specimern 46

piibles WHX 4x50 RM TETSD E9D MICA

9 minutes no Milure/finterruption

Specimen 47

cabiles NHXCH 4%1.53/ 5RE FE18) MICA 01

90 minutes no failure/interrnplion

Specimen 48,

cables NHXH 4x1.5 RE FEI80 MICA 0]

00 minutes no filurednterruption

Specimen 49

cahles NHXH 4x1,5 RE FE 80 ESO MICA

o0 miinutes no Bilore/interroplion

Specimen 50:

cables NHXCH 4x1.3/1,5 RE FEI80 E90 MICA

90 minutes no failuredinterruption

Specinen 31

cables NHXH 4x1,3 RE EE180 E90 MICA

o0 minutes no Filuec/interruption

The fire test was discontinued in 92™ minute at the request ol sponsor,
S1 - 851 were tested by three-phase voltage supply 3 x 230/400V with bulbs 240V /60 W,

mpeelmens

FIRES 064/5-

[ 606 2008-E




FIRES-FR-250-08-ALNE Page: 7
6. CLOSING

e This report details the method of construction, the test conditions and results oblained when the
specific element of construction described herein was following the procedure outlined in EM
1363-1 and DIN 4102 — 12:1998-1 1. Any significant deyiation with respect to size, constructional
details. loads. stresses, edges or end conditions other than those allowed under the field of direct
application in the relevant test method is not covered by this report.,

e Because ol the nature of the fire resistance testing and consequent difficulty in quantifying the
uncertainty of measurement of fire resistance. it is not possible to provide a stated degree of
accuracy of the result.

o The test results refer only to the tested subjects. This test report is not an approval of the tested
product by the test laboratory or the acereditation body overseeing the laboratory’s activities, The
test was carried oul on testing equipment that is the property of FIRES Lid. Without the written
permission of the test laboratory this test report may be copied andfor distributed only as the
whole. Any modifications of the test report can be made only by the fire resistance test laboratory
FIRES Ltd. Batizovee.

Report checked by: Ing. Stefan Rastocky

Issued by: Responsible for the technical side of this report:

.r:_: I ¢
B #.a—?
s | K| L A + i
- .I'-,‘I =

o -“J AN Pkt
s /FIRES pree =
Ing Stelan Rastocky 1;,:'1 Esparts oo Fite Sk __',7: Miroslav Hudak
leader of the testing laboratory L’*f'»_,m_ | _‘_‘_H-L,-:""' technician of the testing laboratory
TR o WY
T.NORMATIVE REFERENCES
DIN 4102 - 2:1977-09 Fire hehaviour of building materials and elements - requirements and
Lesting
DIN 4102 — 12:1998-11 Fire resistance of electric cable systems réquired 1o mamtain eireuid
integrily
STN EN 1363-1:2001 Fire resistance tests — Part 1: General requirements
8. LIST OF APPENDICES
Appendix | Measured values inside the test fumace
Appendix 2 Measured values inside the test furnace / graph
Appendix 3 Measured times of tested specimens from S1 1o 88
Appendix 4 Measured times of tested specimens [rom 8% (o 516
Appendix 5 Measured times ol tested specimens from S17 1o 824
Appendix 6 Measured times of tested specimens from S25 o 833
Appendix 7 Measured times of tested specimens from S34 1o S42
Appendix 8 Measured times of tested specimens from 543 10 551
Appendix 9 - 10 Layout of ¢ables in the test turnace
Appendix 11 -12 Photos taken before and alier the fire test

Appendix 13 - 50 Drawings

FIRES 06d/S- [ b6/ 2008-1




FIRES-FR-2

BE-08-ALNE

Layout of cables in the test furnace

Appendix 9

551 -60 S37-36

537 - 28 S13=12

aoan rC:!l::!D'D

49 - 45 OO OO ke
536- 22 831-28
545 - 432
OO eoec )
s |
S41-38
MNo.3

Suspensiaon tracks

felererenit

D00

525 - 22

521-18

Mo, 2 Mo

Specimen 1 cables NHACH 4x50725 BM FE 180 EQ0 MICA SpscarE BIEGEG e taye
Specimen 2 cables (MN)HXH 4x1.5 RE FE180 CERAMIC 0508 K';:Dﬂ'4-DGHED.|'3N (BAKE!
Specmen 2 cables (NMYHXCH 4x1.5/1.5 RE FE180 CERAMIC 0508 Suspengion track No 1
Specimen 3 cables NHXCH 4x1,5/1.5 RE FE180 EB0 MICA

Speciman 4: cables NHXCH 4x50/25 RM FETE0 EBQ MICA Sk aaRE pldted o e A
Specimen 5 cables NHXH 4x50 RM FE180 E90 MICA DGOEI A0OHEQI3N (BAKS)
Speciman & cables NHXCH 4x%1,5M1,5 RE FE180 E20 MICA Suspension track No: 1
Specimen 7- cables NHXH 4x1.5 RE FE180 ES0 MICA

Specimen 8. cables NHAH 4x50 RM FETE0 EQD MICA Braciiensrieradin tiatisis
Specimen & cables (MIHXCH 4x1.5/1.5 RE FE180 CERAMIC 1354 KCOD E;DGHBG'.-'E-N (BAKS)
Specimen 10; cables (NHXH 4x1.5 RE FE180 CERAMIC 1384 Suspension track No,1
Specimen 11 cablas NHAH 4x1.5 RE FE180 ES0 MICA

Specimen 12 cables NHXH 4x10 RE FE180 ESD MICA Speomens placed in ceiling slips UEF
Speciman 130 cablas (NIHXH 4x10 RE FE180 ES0 CERAMIC (BAKS] in spacing of 300 mm
Speciman 14 cables NHXCH 4x50/25 RM FE180 ES0 MICA sy s biuns
Specimen 15 cables (N)HXCH 4x1,5/11,5 RE FE180C CERAMIC DG57 Ko 4DI§IHE-ZIr3E(BHHS}
Specimen 16 cables (NJHXH 41,5 RE FE180 CERAMIC 0857 Suspension track No.2
Specimen 17 cables NHXCH 4xt 5/1.5 RE FE180 ES0 MICA

Specimen 18. cables NHXCH 4x50/25 RM FETB0 ESD MICA T ————
Specimen 18, cables NHXH 4x50 RM FE180 ES0 MICA DGOD 400HE0/3E (BAKS)
Specimen 20 cables NHXOH 4%1,5/1,5 RE FE180 E90 MICA Suspension track No 2
Specimen 21 cables MHXH 4x1,5 RE FET80 E8D MICA

Specimen 22 cabies NHXH 4x50 BEM FE180 ESOMICA ) )
Spetimen 23 cables NHXCH 4x1,5/1,5 RE FE180 MICA 02 Siﬂg&?ﬁdmﬁjﬁ'ﬂ'E';‘f;;'f
Specimen 24, cables NHXH 4x1.5 RE FE180 MICA 02 &\ peansianimackifios
Specimen 25 cahles MHXH 4x1.5 BE FE180 ESO MICA

Spenimen 26 cables NHXH 4x10 RE FET180 ESO MICA Specimens placad in celling clips UDF
Specimen 27, cables (MjHXH 4x10 RE FE160 ES0 CERAMIC (BAKS) in spacing of 300 mm
Specimen 28' cahles MHXCH 4x1,51,5 RE FE180 EQ0 MICA Shissiians placad In eailing profile etass
Specimen 29° cables MHXH 4x1 5 RE FE180 EBI MICA SOOC 400E with clips UKD E (BAKS)
Spacimen 30; cables NHXCH 4x50/25 R FET180 ESD MICA in spacing of 800 mm
Spacimen 31, cables MEHAH 4x50 RM FE180 ES0 MICA

Snacimen 32; cables MNHXCH 4x1.8/1.5 RE FE120 ES0 MICA

Specimen 33; cables NHXH 4x1,5 RE FE180 ESO MICA Specimens placed in cailing clips OZ0E
Snacimen 34 cables NHACH 4x50/25 RM FE180 ESD MICA {BAKS) In spacing of 500 mm
Speciman 35. cables MHXH 4x50 RM FE180 ESD MICA

Specimen 38, cables NHXCH 4x1010 RE FE180 ES0 MITA Specmens pleced n cailing oliss UOFE
Specimen 37! cables NHXH 4x10 RE FE180 ESO MIC (BAKS] In spacing of 600 mm




FIRES-FR-256-08-AUNE

Layout of cables in the test furnace

Appendie10

551 -50 S37-36

M3

Suspension tracks

Mo 2 Ma.1

IENEW'EH 33

cables NHXCH 4x50/25 RM FET80ES) MICA

Spedimen 38,

cables NHXCH 4x1.5M1 5 RE FE180 MICA 03

Spacimen 40

cables MHXH 4x1,5 RE FE 180 MICA 03

Specimen 41

cables NHACH 4x1.51.6 RE FE180 ESO MICA

Specimans piscaed in iha trays
KOO 400HS0AE (BAKS)
Suspension track Mo 3

Speamen 42

cables NHXGH &x50025 R FE120 £50 MIGA

Specimen 43,

cables NHXH 4x50 RM FE180 ESD MICA

apecimen 44

cables NHXCH 4x1.5/1.6 RE FE180 ES0 MICA

Spacimen 45!

cables WHXH 4x1.5 RE FE180 ES0 MIGA

Specmens placed on the pddoes
DEOD AMHENAE (BAKS)
Suspensien track No 3

Specimen 45!

cables NHXH 4x50 RM FE180 ES0 MICA

Spaciman 47

cables NHXCH 4x1.8/M .5RE FE180 MICA D1

Specmen 48

cables NHXH 4x1,5 RE FE180 MICA 01

Specimen 49

cables NHXH 4x1 5 RE FETBO ES0 MICA

Specimans plecad in the trays
KOO 4a00HB0RBE (BAKS]
Suspension track Mo 3

Specimean S0

cables NHXCH 4x1.51.5 RE FE180 ES0 MICA

Speciman 51

cables NHXH 4x1.5 RE FE180 ES0 MICA

Specimens placed (n ceiling clips UDFE
(BAKS) in spaciag of 600 mm




Badanie torow kablowych w FIRTES na Stowacji w dniu 20,11.2008.

Zestawienie: ospregt BAKS + Kable Bitner 13
: Poiveia . . . . i
| varka Svmbol kabla wuif}i:t-:ru Konstrukcja mocowania, idlestose, obeigzenie MY
3 INUXCH FE 180 S0 4530025 Karvtko Enblowe KOORIDOHGE.,,,
! Rl T B400/15m S0 kgdm, grubosé Blachy 1.0 mim.
NURCH PE 180 B30 45 50i25 | Wlowowanie: wspornik WO wysiganik
Al [NHXCHFE 180 B90 4% 1.5/1,5 WMD) 400F, pret gwintowany PGMI0/E.....
5 T : m—— velwy! LSOV do betonu g pomove hothia
NHXCH FE 180 E9G 4% 15015 1 roEporswveh PRRO MDD,
A NUKHPE 8 4% 1.5 mica 03 Material stal ksosoatporna. test mica (13
NHXH FE 180 4% 1.5 mica 03 fessl iy (13
S0 | NHECH FE 180 4% 1.5/1.5 nvea 03 sl ey (13
NHXCH FE T#hdx L33 mica 03 {est mica 03
A3 |NHXHEFE 180 E90 4% 50 Diezhinka kablown DGODADOHG0
| rm—— 2 H-408¢ 1, 5m 220 kaim, grubose blachy 1,2 mm,
NHXH FE IB0ES0  4%50 Meloconsamie. wapormb WECIE., . whsigonik
WD NHXCIFE 180 E9D 4 50/28 WMCO A00E, pret swintowany PGMIO/E., .
=———— - . uchwyt USOVE do betonu 2o pomaeg kolkow
EH}CI—I FE IS0 S0 4x 500258 2 rozpormwyeh PERO M1 ko,
45 |MHXH FE 180 1590 4% 1.5 Muterial stal Ewasoodpaorme,
NHEH FE 1BOESD 4x 1.5
4 [NMHXCH FE 180EDD dx 1.5/1.5
WHXCH FE 18090 dx 1,571,5
A [NHXHFE TR0 E9S 43 50 Rorytko kablowe KCOIOOHBOE. ..,
. R : 001 S 10 kgdm, grubodeé Blachy 10 mim,
| NHXHFE 1B0ES0 44 50 Movowante:s wepornik WRCOTE..., wysigenik
40 [ NHXIFE 180 EDD 4% 1.8 WMOO-A00E, prel gwinlowany POM 0T
; = ety !l USOVE do hetono za pomoca kelkow —
NHXHTL 180S0 4x 1.5 3 mparowyeh PSRO MIOXKOL
48 [MNELXH FE 18 4% |3 mice 01 Material: sl kwosoodporna Lest imica 01
NEKH FE 180 4% 155 micn O Lot i 0]
41 [NHXCH FE |86 4% 15,3 mica 01 Test g 0
Jh.-'l IXCHTE 180 % L5013 mifes 01 fest mie 0
&l NHXT FE 180 9 4% 1.5 Liclyt Rasblowey LIDIFE ...
e rs p : rriscewinie do Betang eo 0.6 oo pomoen kalkiw
NHXH FE 18090 4x 1.5 roeporowyeh SR Mox30LE:
& NHXCH FE 180 E90  4x 1.5/1.3 Mlaterink stal kwosoodporm.
NHXCH FEE T80 B ax 1,515 4
I [ NHEH FE T8O B9 4x 10
INHXH FE 180 150 4% 10
36 | NEIXCH FE IR0 E90 4% 10710
NHXCH FE T80 ERO 4x 10710
35 MHXH FE 180 E9)  4x 50 Cibejma kablown W0
R ; mupcowanic do hetono o Oib m e pomocy kotkow
NHXHFE 180 E90 4x 50 rozporowyeh SR Man J01.
34 [ MNPIXCIEE TR0 S0 4y 50028 Mlatesrinls stul kwosoed psm
NUNCH FE 180 Fa 4% 30025 5
33 |NHXHFE 180 E9i 4% 1.5 T T e
NI FE 180 90 dx 1.5 ﬁ\\%- 20 2 E00f
3T [NHXCH FE180E90 45 1,5/1.5 FIRES s.r.o, Gl s
a } z LR e B Fjﬁ;:F"'LHN."! r":“i:” F‘:"'I:':'T‘ g'i:rn_. ) —
NHXCH FE 180 K90 4x ,5/1,3 FIRE RESISTANCE | Padfis/Signature

LaRUMAant o,

e

Baouman: No, FAREN— £ TEE - - e




Badamie torow kablowych w FIRES na Stowacii w dniv 20.11.2008.
ZLestawienie: asprzet BAKS + kahle Biner

3/3

l vinrka'| Symbol kahla

Proeyvcia
woplec

Beenstrukepn meciowamiz, odleglosc: obeinzenie

Llwagi

§ |NHXHFE 180 E90  3x 30
NHXH FE 180 E90
4 [NUXCH FE 180 E90 4x 50025
NHXCH FE 18O B0 Ax 50025
T INHXH FE 180 150
NHEHFE |8 ES0 45015
6 [ NUNCHFPE |80 o0 4% |5/0.5
NHXCH FE 180190 4x 1,5¢1,5
4 [NHXCHTFE 180 ES0
NHXCH T 180 190
B ONHXCH FE 180590 4% 1L,5/1,3
NHXCH FE 180 E90 4% 1,571,
1 (SIEH PR RO 4% L5 Gorun 957
(SO PR LRO 4% 1,5 cerqim 0957
15 |(NJHXCH FE 180 4x 1.5/1.5 ceram 0957
INJHXUH FE 180 4x 1.5/1,5 ceram 0457

4% 50

A 1F

Ax 3(H23
Ax 525

12

|3rzbinka kallown DGODOOMR...

B0/ 1 Sivy 120 Koo, grubiodd Blacky 1,2 mim,
Mocowanie: wepomnik WPCO L wesizgaik WWS
AL prevowinwany PGM I,

pehwyt LSO docbetom ga pomocg kolkdw
Peperoes ) PSR M DxB0,

Materinl: stal kostrukeyjon cvokowana metada
Sendaimin,

13

Koarvtko kablowe KOOMAO0DHGOE, ..

B0 o 10 kefme grubesé blachys [0 mm,
Mavowmnie: pret gwintowany POMIGAEL.,
Ceonnik, CWOP AOHAEE © velwet preesubows
WPPOVE dlo hetono @ pomocs kobkds
roEporowyell PSR MIT0xE0E,

Marerial: stal kwosoodporma.

test cernm D937

Lest oo 1957

[kl ceram GYsST

rest cernm QU7

1 INHXCH FE 180 1290 4% 5025

NEIXCHFE 180 190 4x 50423

3 |NHXCHEFE 180 B9 4x 1.54,
NHXCH FIE 180 (90
(MHXH FE 180 4% 1.5 coram 0508
(NJHXH FE 180 dx 1.5 ceram (504
NIHXCH FE 180 4 1,3/1.5 ceram 0308
MIAXCH FE 180 4% 1,571,585 ceram E]ﬁﬁﬂi

Ly

A 154105

e

14

Kemviko Kablowe ROCUIAO0H 6L,
B-3000 3m /10 k'm. gruhodé blschy 1,2 mim,
Mucowimie: whparnik WP .. wsigenik
WOWEAH, prat gwintowany PGMILD, .,

uchwy1 VSOV do betonu 2 ponoe kotkaw
rogporpwch PERO) MIEDx R0,

Miterial: stal kostrukeying evikowana metods
Sendaimim.

sl ceram 0308

[eal werm AR

testceram B304

(st cwram (2018

Wymliary kabll

Lp Syl kabla E'ircdrliy_q”]:uilblu Clgihar kihla
|| NHXH FE T80 90 4x 50 38,8 mm 33 kghm B
2| NHXCH I 180 B90 dx 50:25 40,2 mm 3.8 kphkm
| NIXHTE 180 E90 4x 10 32 mm (LES kgm
5| NHXCH FE 180 E9% 4% 10710 23 mm (195 kgm
A | (NHXH FE T80 90 4x 10 22 mm (.83 kp/m i
T [ NHXH FE 180 90 4x 1.5 15mm D4 ko'm =5 1
8| NHXCH FE 180 190 45 | 5/1.3 I 6erimm 036 ham
10 | CONIXIFE LRD 590 4% 1.5 15mim 34 kein B
I TINHXCH FE 180 190 4 1,5/1.5 6omm 036 kaim |

(g :ﬁ\
/FIRES sro.

POFTARNA QDO ol
FIRE RESISTANOH

—

Dravaingy D ara
22, . 2800

e ﬁl’i"-ci.’l_l:ll"ﬂ'l e

2

-

Chaniimant & = = 3 :
Oacurent Ng* F& 5= <~ Srg

— e i B i

Prilotig & iAnpends Ho. o

el e

¥ T —

]




